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Zebra Puzzle &

Four friends are cycling around the city on their bicycles. Determine which bike each one is riding.

Bike: blue, pink, red, yellow Age: 10 years, 11 years, 12 years, 14 years

Name: David, Eric, Gregory, Ivan Sandwich: cheese, peanut butter, roast beef, turkey

Boy #1 Boy #2 Boy #3 Boy #4
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The 12-year-old cyclist is in the third position. The 11-year-old boy is in the last position.
The cyclist with the Yellow bike is immediately after Cyclist Gregory is 14 years old.
lvan. The cyclist with the Red bike is next to the cyclist
The 14-year-old cyclist has a Cheese sandwich. named David.
The boy with the Peanut Butter sandwich is directly Ivan is the one riding the Blue bike.

before the boy with the Turkey sandwich. The 14-year-old boy is in the second position.

Eric is the boy who has a Peanut Butter sandwich.
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The 12-year-old cyclist is in the third position. The 11-year-old boy is in the last position.
The cyclist with the Yellow bike is immediately after Cyclist Gregory is 14 years old.
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van The cyclist with the Red bike is next to the cyclist
The 14-year-old cyclist has a Cheese sandwich. named David.
The boy with the Peanut Butter sandwich is directly Ivan is the one riding the Blue bike.

before the boy with the Turkey sandwich. The 14-year-old boy is in the second position.

Eric is the boy who has a Peanut Butter sandwich.
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